

Advanced Intelligence Engineering
www.AlE195.com

We have prepared a quote for you

Wheaton Park District - Meraki Cloud License Renewal - T20230406.0047

Quote # SB002624 Version 2

Prepared for:

Prepared by:

Wheaton Park District

Sarah Bailey

Advanced Intelligence Engineering

Tuesday, April 11, 2023

Wheaton Park District Mike Benard 1777 S Blanchard St Wheaton, IL 60189 mbenard@wheatonparks.org

Dear Mike.

I am re-sending this quote because the MS225-48LP-HW license was missing. This quote is regarding your Meraki Cloud license renewal. Currently, it is due to **expire on May 18th, 2023.**

If you wish to continue using your Meraki networks, you must renew your license before it expires. Upon expiration, your Meraki networks will cease to provide network access.

Kindly return a signed copy of this quote to AIE at your earliest convenceice. And please, let us know if you have any questons.

Thank you!

Sarah Bailey

Administrative Assistant

Advanced Intelligence Engineering

Advanced Intelligence Engineering

Licensing

Description	Price	Qty	Ext. Price
Meraki MS120-8 3-Year Enterprise License and Support:	\$54.85	1	\$54.85
Meraki MS120-8LP 3-Year Enterprise License and Support:	\$68.81	3	\$206.43
Meraki MS120-24P 3-Year Enterprise License and Support:	\$199.19	2	\$398.38
Meraki MS210-24P 3-Year Enterprise License and Support:	\$287.66	6	\$1,725.96
Meraki MS210-48LP 3-Year Enterprise License and Support:	\$445.99	6	\$2,675.94
EOS Meraki MS220-8P 3-Year Enterprise License and Support:	\$77.15	1	\$77.15
Meraki MS225-24P 3-Year Enterprise License and Support:	\$417.01	1	\$417.01
Meraki MS225-48LP 3-Year Enterprise License and Support:	\$597.06	1	\$597.06
Meraki MS250-48LP 3-Year Enterprise License and Support:	\$827.82	1	\$827.82
Meraki MX67 3-Year Enterprise License and Support:	\$398.38	10	\$3,983.80
Meraki vMX 3-Year Enterprise Medium Subscription License:	\$3,286.55	1	\$3,286.55
Meraki MR 3-Year Enterprise Cloud Controller License:	\$214.76	23	\$4,939.48
Meraki MG41 3-Year Enterprise License and Support:	\$633.52	1	\$633.52
Subtotal \$19,823			

Labor

Labor for this installation will be billed per your contracted hourly rate.

AIE Guarantee

In the event that warranty hardware repair or replacement is required within 60 days of purchase, AIE will provide the labor for that repair or replacement at no additional charge.

Payment Terms

In order to initiate the work, AIE requires a signed copy of the agreement along with 100% down payment on all hardware and licensing and 50% down payment on all labor. The balance of the labor, along with any additional surcharges or tax, will be billed Net20 upon completion of the work.

Advanced Intelligence Engineering

Wheaton Park District - Meraki Cloud License Renewal - T20230406.0047



Prepared by:
Advanced Intelligence
Engineering
Sarah Bailey
(630) 936-4045
Fax (815) 346-5342
sbailey@aie195.com

Prepared for:
Wheaton Park District

1777 S Blanchard St Wheaton, IL 60189 Mike Benard (630) 510-4945 mbenard@wheatonparks.org Quote Information: Quote #: SB002624

Version: 2

Delivery Date: 04/11/2023 Expiration Date: 04/24/2023

Assumptions

- Client staff will be available in a timely manner for questions and testing of changes.
- Client will provide all necessary software discs, serial numbers, and passwords for any software needing to be reinstalled.
- The work will be completed Monday-Friday / 7:30am-5:30pm, unless otherwise designated by AIE.

Should any of these assumptions prove to be incorrect, additional labor will be billed at your contracted labor rates.

Quote Summary

Description	Amount
Licensing	\$19,823.95
Total:	\$19,823.95

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

A 1 I	1 (11)		
Advanced	Intelligence	⊢nain4	arına
, la valloca	michigenee		

Wheaton Park District

Signature:	<u>Man</u>	Signature:	MS
Name:	Sarah Bailey	Name:	Mike Benard
Title:	Administrative Assistant	Title:	Executive Director
Date:		Date:	4/12/03